Raices Cubicas (H)

Halle cada raiz.

J110,592 = 46,656 =__ /125,000
J1 - Y21 = 24389
J125000 = 125 = 68921
Jors = <6l = Jkasn
J13824 = 5832 = 682l
582 = I = Imgs
J50,653 = 46656 = 54872
46,656 = 125000 = /32768
J64,000 = 39304 = 2744

J17576 = 42875 = /10,648

MatesLibres.Com




Raices Cubicas (H) Respuestas

Halle cada raiz.

J110,592 =48 J46,656 =36 J125,000 =50

I =1 9261 =21 24,389 =29
J125,000 =50 J125 =5 J68921 =41
1,125 =45 364 — 4 V54,872 =38
Y3824 =24 Y5832 =18 J68,921 =41
¥5832 =18 J729 =9 J42,875 =35
¥50,653 =37 Y46,656 =36 V54,872 =38
Y46,656 =36 Y125,000 =50 32,768 =32
764,000 =40 ¥39,304 =34 2744 =14
J17.576 =26 V42,875 =35 J10,648 =22
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